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CPP-1115

M.Com. (Previous) Examination, 2022

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - I

(Management Accounting and Financial Control)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) (3% : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 I=S) | Wi WY 2 3 T §|
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-9) (37 : 8 x 5 = 40)
I # 9 R Ui T & SW SIS (SW-EE 200 9E) | TAE Y9 8 Ik
H T

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(@us—a) (37 : 20 x 2 = 40)
;Rﬁﬁﬁ?ﬁﬂ’fﬁ@ﬁiaﬁq (IR-H 500 T3 | Tk T 20 % H

|
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Section-A
(Tus-3)
1. (@ Define Management Accounting.

Ty SR i qRY SIS |

(i1)) What is Owner’s Equity ?
wfae feq &1 @ s § 2

(ii1) What is meant by Trend Analysis ?
Yot fawermme | o9 T THer © 2

(iv) Define Ratio Analysis.
ST ferearem w1 qRemn AR

(v)  When does flow of funds take place ?
I T FATE FA oKl § 7

(vi)  Give the meaning of Cash Flow.
Uk Yo H1 31 TR

(vii) What is meant by Under Capitalisation ?
T ISR § N SN ¥ 2

(viii) Mention rwo uses of Cost of Capital.
St AT % G SUERT FasT |

(ix) Give four examples of unescapable costs.
TAE AR AN % AR 3SRl S |

(x)  Mention four characteristics of a Good Report.

THh 3759 Ufgag &l A fouioand saEu |
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Section-B
(@us-)
2. What are the objectives of Financial Statement Analysis ?

foxiter foeror faveroor & 3e9d JarEy |

3. Compute the current ratio and acid test ratio from the following figures extracted
from Gopal Ltd :

Tore fa. & faa 78 fefera et 9 =] STUM Ud @Ra ST i T0MET SIS :

Liabilities ®) Assets ®
Sundry Creditors 20,287 | Goodwill 80,000
Bills Payable 900 | Land and Building 60,000
Bank Overdraft 2,600 | Stock 13,640
Provision for Taxation 6,200 [ Sundry Debtors 26,150
Proposed Dividend 4,313 | Bills Receivable 1,130
Provision for Deferred Taxation 7,000 [ Advance Income Tax 5,000

Cash 2,430
Payment in Advance 3,100

4. How is Cash Flow Statement is different from Funds Flow Statement ?
Yehg FaE faeror, e o foene ¥ feg yar = & 2

5. The following data were obtained from the statements of Agarwal Ltd :

sErd fa. & faeron 9 fAfafed sfies 9=y ¥ . ®

Net Sales 24,00,000
Average Total Assets 12,00,000
Average Shareholders Equity 8,00,000
Net Profit from Operation 6,00,000
Net Profit after Interest and Tax 3,00,000

Compute the rate of return for management and shareholders purpose.

Yo TS SR & foU 9o X &Y TOM S|
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6. Explain the difference between average cost and marginal cost of Capital.

it &t SHd AFG TS ARG ARG W SR TR HIf

7. A toy manufacturer earns an average net profit of ¥ 3 per piece at a selling price
of ¥ 15 by producing and selling 60,000 pieces at 60% of capacity. Composition
of his cost of sales is :
T fadm =1 fafar 60,000 sTeal 1 1o ST &l Bl 60% Scae il © e
3 15 9fad s fosra Howr W 3 3 9 s 36 oy AR Il §1 sHe fasd an

FHT IO TH TFR ¥ 3 per piece

Direct Material 4

Direct Wages 1

Work Overheads 6 (50% Fixed)
Sales Overheads 1 (25% Varying)

During the current year he intend to produce the same number but anticipated
that :

(@) His fixed charges will go up by 10%

(b)  Rates of direct labour will increase by 20%
(c)  Rates of direct material will increase by 5%
(d)  Selling price cannot be increased

Under these circumstances he obtains an order for a further 20% of his capacity.
What minimum price will you recommend for accepting the order to ensure the
manufacturer an overall profit of ¥ 1,80,500 ?

TAAE o8 W 9% Sal @ G Scifad T Edl § Ofh I8 STHM il © R
(31) 9= R @ral | 10% gfg srm

() T o\ & A H 20% s B

(9) 9o 9l T 5% 9 srett

() faora oo &1 e S wehdl

e aRkfearfasl § STt SO a1 T 20% IR A 1 SR U B § 1 39 ARy
% WHR T W Y fRaT Faaq gea F9iRka w3 &t e w31 S99 fma @
o9 % 1,80,500 & S ?
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8. What do you understand by Business Forecasting ?

EEIs qaaH § 9 ¥ FHe § 7

Section—-C

(Tus-—4)

9. Discuss the functions and responsibilities of Management Accountant. What

should be the qualifications of a management accountant ?

Yo SIS o hTa Ud SRS oh1 faa=d il | Teh Jole] ol § &2 Jrgand

g1 ey ?

10. Following are summarised Balance Sheet and Income Statement of Max India

Ltd :

o sfean fa. & dfera fag o o faaor = @ ™ ¥

Balance Sheet

Liabilities 31.3.2020( 31.3.2021 Assets 31.3.2020]| 31.3.2021
Share Capital 7,20,000( 8,88,000 | Fixed Assets :
P&L A/c Land and Building 96,000 1,92,000
(Accumulated) 3,03,600| 3,27,600 | Plant and Equipment | 7,20,000|11,52,000
Depreciations on Plant Current Assets :
and Equipment 2,40,000| 2,64,000 | Cash 1,20,000( 1,44,000
Current Liabilities : Debtors 3,36,000| 3,72,000
Sundry Creditors 4,80,000| 4,68,000 [ Stock 5,28,000| 1,92,000
Outstanding Expenses 48,000 96,000 | Advances 15,600 18,000
Provision for Taxation 24,000 26,400

18,15,600(20,70,000 18,15,600(20,70,000

Note : Cost of equipment sold was I 1,44,000.

9 ¥ I & A T 1,44,000 &
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Income Statement for the Year 2020-21

Net Sales 50,40,000
Less : Cost of Sales 39,60,000
Depreciation 1,20,000
Salaries and Wages 4,80,000
Operating Expenses 1,60,000
Provision for Taxation 1,76,000 | 48,96,000
1,44,000

Add . Non-recurring Income :

Profit on sale of an item of equipment 24,000
Retained Earning 1,68,000
Balance in P & L A/c brought forward 3,03,600
4,71,600

Less : Dividend declared and paid during the year 1,44,000
3,27,600

You are required to prepare a statement of changes in Working Capital and

Statement of Sources.

STTIh! T A &l =16 S AFHT FwFeha goit § giadq 1 foexor qeon i &
HId T ST w e TR R )

11. The capital structure of Vandana Ltd is as under :

T fo H S e T R R )
2,000 6% Debentures of ¥ 100 each (First issue) 2,00,000
1,000 7% Debentures of ¥ 100 each (Second issue) 1,00,000
2,000 8% Cumulatives Preference Shares of ¥ 100 each 2,00,000
4,000 Equity Shares of ¥ 100 each 4,00,000
Retained Earnings 1,00,000
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The earnings per share of the company in the past many years has been ¥ 15. The
shares of the company are sold in the market at book value. The company’s tax
rate is 50% and shareholders personal tax liability is 10%. Find out the weighted
average cost of capital.

TH T TS W HEE H YA ST A5 T 15 T TSR H RN 6 S THH Jod W
S T T HEA BT AFRL hI R 50% T TG ST hT Al SAFR I 10%
¥ vriferd ofa ISt st @rT 9 it

12. What do you mean by ‘Linear Programming’ ? Explain its areas of application

and importance.

‘IET wEHmE’ U AT N GHIG © 2 TUh SYINT &% TH e T Wit |
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